POLITICAL SCIENCE
QSEIGRERIC]

(317)
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T ;3 H0 | [ qUife : 100

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and B’.
(i) Al questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.

féw: () WTHA-TF Q90 T I @ GE 7|
(i) @vg ‘I F |t U w TA FAT L
(i) WIe—a H Uk ¥ Al e &1 whenff #r et ek forehew & & g F WA

SECTION-A
Qus-31

1. According to the liberals, what is meant by the term ‘politics™ 2

IERATE o AR, TSHIfA Irsg = i 27

2. What is meant by the concept ‘Nation’? 2

‘g’ it sraeron w5 o1 B7

3. What was the main task of the Constituent Assembly of India? Name the
person who presided over its meetings? 1+1=2

IR ! AAIH-T9T 1 &I HE o1 A17 Tkl SISkl ohl ALTeIal ohdl ATk gRT ot STt off?
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4. Which type of cases can be transferred from a Subordinate Court to the High
Court? 2

ore TR o gened fordll Tefieer =ITe™ @ 3= =ITerd H TIETaRa TR ST Hehd 27

5. The people of Rampur want the primary school building of their village to be
repaired. But they don’t have adequate funds. Suggest any four ways in order to
collect money for the said purpose. 2

TR & et e g & mafies forme™ % wad il TOHa HwEE 9Rd 81 Teg 3 9™
iy g T 21 38 i A ufd % fou em gen i g = fafeat gamu

6. “The minimum age for the Right to Vote varies from country to country.” Give
any two examples from outside India to prove that the above statement is
correct. 1+1=2

“IaeH % AR % fow =man g ffie 3 & srem-orem 21 38 o il wel fag e
o foTg, Wra & i, frel &t 311 Sw1i o 3aTee gt |

7. What is meant by ‘countermanding the elections™ 2

‘G g8 HET T AT AR B

8. Mention any two ill effects of population growth on good governance. 2

I R SHEE ghg o fRedl at FuvmEt @ 3g@ Hii|

9. Highlight the nature of help India got from USA under PL-480. 2

PL-480 o 3F7d, ¥gwh Usd IHH! g WRA ol S YR & g™al Yeq & T8, 39
ISR TS |

10. What is meant by ‘State’? Explain any three points of distinction between the
State and the Government. 2+3=5

T’ N w1 27 UST qUT AR W IR W B ar o i feigant it smen hifsw)
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11.

12.

13.

14.

15.

16.

17.

What is Marxism? Mention any three basic postulates on which Marxism is

based. 2+3=5

TR 7 27 UE fohedl iR U faidl o g e oA W e senia 21

Identify and describe any five Directive Principles of State Policy which promote
social welfare of the people.

=g & fifd Fewes gl 4 @, 99 seamn & seEn 2 9 el ute fagial f gg=e
LA Y IR AU I |

List any five legislative powers of the Governor of a State.

TST o TsAuTd i fohdl uter faamht wifea ot gefies, i

Explain the factors responsible for communal violence in India.

qd § Areries fean o fou e seht shi samen Shifsg |

What is the relevance of the policy of nonalignment in the present-day unipolar
world?

A Teh-gaa fovd § T[e-Taueran & if o JEfehar s T8 Hi |

Describe the efforts made by India to resolve the separatist problem in
Sri Lanka.

sficteRt H Yool il THET 1 T FeRer o i Wi g fohe T st w1 gl hifs|

Highlight the nature of Indian Federation.

OR
Explain the situations in which President’s rule can be imposed in a State.
What are the aftereffects of such an imposition of emergency? 4+4=8
IR |9 % TET 9 T SMery |
3TIqT

TS9 § qgAfd A @0 R o6 [olU Tawdes gifefaal i 2w el 38 TR &
JTITARTS o TR B o U9, TS aTel YTl a1 T98 hifs |
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18.

19.

20.

Explain the Original and the Appellate jurisdication of the Supreme Court of

India. 4+4=8
OR
What is ordinary bill? How does an ordinary bill become a law in the Indian
Parliament? 2+6=8
TR o Far=l AT o TRFHe a7 3Tdel Traeefi aieenr h =amen ity |
cEEl

Trum e fore whed 87 wmemw fadee wrdie gog § R YRR SE s 27

Analyze any four causes for the development of regionalism in India. 2x4=8
OR
Evaluate the methods which the pressure groups use to influence the process
of the government. 8
RA H &aTe o foshm o foheal aR o o1 foeetvn it |
3Tg4qT

TR 1 Tl 1 T % fTT FeE |gl g S S S arel! fafe s e
it

Which significant measures have been taken at the international level to
protect the environment? Explain any four of them. 2x4=8

OR

What are Human Rights? Highlight the significance of Human Rights in the
Constitution of India. 2+6=8

TfereT il Gra & e STaiyi T W #H-8 Heeul ®ed 31T MU 27 I § foRdl wr
e Hif |

379747
AEATR & 1 U™ 27 YA o GiTa™ H AHaTEeR & Haw ol ISR shifsu |
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SECTION-B
Qus—d
OPTION-I
faeheu-1
( World Order and the United Nations )

( Torva sraeen 3R WY Y )

21. “India, during globalisation, has emerged as one of the fastest growing
economies in the world.” Mention any two major economic changes to support
the statement. 2

“IvdTeRtT o IR, WA T GO did ghg e aTel] 1efeawel SR 39T g1 39 U %
ueg # Fordt &t g enfefer afadat w1 3g@ Fifsm)

22. Explain the composition and functions of the Economic and Social Council of
the UN. 2+3=5

T Y I AT dom arrieres afwg it AT aon wEt 6 SR i |

23. Describe the peacekeeping activities of the UN towards maintaining the world

peace. 8
OR
When and how did the establishment of New International Economic Order
(NIEO) take place? Explain the principles on which it was founded. 2+6=8
forea wmifa &1 fewm & wgeh TF S0 AT S W@ Arelt AidfaeEt s avi i)
3TI4T

T STAUEE aMfder awen (NIEO) it T e a1 8l g5¢ 34 fagmdl il =men s
e 319N W 3EeR o4 g3
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21.

22.

23.

OPTION-II
IEET M|

( Administrative System in India )

( 9wa Y TR EEer )

Suggest any two most effective measures to ensure objectivity and impartiality
in the method of recruitment by the Public Service Commissions. 2

s HaT ST 51 R S ATt Aol § segiEdr o e gifrea w0 % foe wE @
ST TATE 39 sy |

What is Central Secretariat? Highlight any three areas in which the secretariat
assists and advises the ministers. 2+3=5

Fesiy et 1 27 foheel U8 i\ &l ol ISR hifei fSE s afueres |hEt
AT AT & a7 3¢ UUme <dl 2

What is meant by committed bureaucracy? Describe its role in a developing
nation like India. 2+6=8

OR

Why and when was the Administrative Reforms Commission (ARC) appointed?
Explain any two most important areas touched upon by the ARC. Highlight the
main recommendations of the ARC. 2+2+4=8

wfdeg TrRwEE @ w1 AT 27 wRa e foeeefia oo # U deeemndt B e 6
T Hif |

37T

TIMEf GUR TN (ARC) Y TTOHT el R R 1 TE7 foRedt ot waffaes wewgut ast
T HINT 9 W ARC 7 ey« shfsa foram| ARC il g fawiil &l 3SR hifs |

* ok ok
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